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Precalcudusy  Unit 2 Notes—Factoring and Review
N r
Grouping GCF(ox? + bx) + GCF(ex +d) =
Four Terms axt +bx+cx + d (GCF + GCF)({yx +2)
. 7 \,
& b ﬁ “
Find two factors of ¢
2 +Bx+e {m and p), thatadd up to b.
(x+m){x +p)
L J \_ Y,
~
i N Find two factors of ac
Look for a . . . (mand p), that add up to b.
GCFil Trinomial R HERE Rewrite as ax?+ mx + px + .
\ J Factor by grouping. J
.
s ~\ 4 '
Perfect Square Take the square root of the
Trinomial first term and the last term,
@ +2ab + b? {a+bp* or {a-b)?
\. J \ )
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) _ Difference of Take the square root of each
Binomial Two Squares term and write as
a? - b {0+ b){o - b)
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SLIDE and DIVIDE

1) slide

2) factor

3) divide

4) bottoms up!lt
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Factor completely: - S’ 0 AP
@ ral‘) xsl; 16x? 2) —7y*— 56y 3) QZ
& (x "/6) —?}(33 4:5) X3+

) e L e
u(v+D)( - 1+ s (\—5)
xa(*aw)(x 4»93@»3) :} &l , (x +Q)(3‘x )

4) 3x> + 15x2— 12x - 60 5) 8x3-27 ' 6) 8x%y—20xy—12y

3{Xa’+5xa%'{x‘901 (ly HB)Q{)f‘ Fox +7 ) ‘{a_(lf—‘ﬁx"%)

3[36&()(1'5)—%()(*5\1 l ) 'L{a\(_lx'l’l)(‘( "33
3 (x>0 (x+9)

(v )32 (4 +5)
@ 7) 6x>+11x—10 8) —36x%y + 15x%y + 6xy 9) .—2x3 +2x
(3= - < + D) -3“3@;”5, -2) ‘2 [64)
| 3y (i + Yax=2) ~ax (x 1))
IO)\60x3_+40x2—l35x—90 11) x*—29x%+ 100 | 12) 54x—128
51y t8>?/— Rx-18) &ﬂ‘%)@f_q)» | 3 LH%«M)

5(['7’& (3;2?4()5“3) () (xQx2)  3(3.-H(43 + 1dxt )
5 ,_“’*,_q xxd

5 (ax ) N 3x23)



Precalowdus Unit 2 Homework—Factoring

Factor completely:

20.

21.

22,
23,
24,

L X —4x*+5x-20°2

xS —3xtaxt -3 =

X +x = A ("Q’H‘)

2
. 18y° +48y" +32y * 3& (27

5x-15 * 6()('7)) .
vz’ =3yz’ +2yz :72(?
249 :(2+3)(2})
642528 ‘6&)(9 *55()

o
Y +8y+16° @M)g
472 —4z412(22-1)
g ly-2) G ot )
27y3_8:éy,9.)(739-+£};9)
e (~x ) b x X )

2 +9x+147(x *?_)(X*J)

32 W)° S (z-a)(21) \i

A ossoa (2 ~8Y(E )

14y® -33y -5 < C?u + D(;“"’ 5+)s)

125 +11x—15 = (B = 3)3x g
6x2+11xy—1()y2:U.,6 *}gy&)‘+ oz)

B x-4) 5 (x4) = (xam%z*:)s) @
1 Aox\ e (303) 2 ()
AR b)(¢3)

2ac+6ad —bc—3bd ¢ 3.5..(& *3J)-b(c, "34) = CQ&"
3
-}.}‘{;'Hb): 3&(33"’“)

16y—y> = H-(lb“al) E W"“H) (L“(Z) —5}%‘1* l)
sy+3y7-27 < }&&A&L‘s) N &%3 H' a)ax 9
1222 +22x-20 = & (B y il -10)7 35 [ ¢ +2d) ,b(i»f:zal):@a—b)(cdd’)

. _ o2 da
2ac—2bd +4ad —be = ke C"‘/"-J - be ‘;’bd

12 X -%)—L{(X*S):(f—l{)(xai-) - ) (x- D(*3)
2 —3x—4x+12 > X (X



